= q VYUZITI SKLADKA
ZISK ( MOST 008) MN?nf??]TV'
[m3] [%0] [m3] [%0]
VYKOPY 532,700 401,730 75,41% 130,970 24,59%
ORNICE 33,600 16,800 50,00% 16,800 50,00%
5 i VYUZITO NEDOSTATEK
ZASYPY ( MOST 008) MNOZ??TV'
[m3] [m3] [%] [m3] [%]
ZASYPY 616,290 401,730 65,19% 214,560 34,81%
ORNICE 33,600 16,800 50,00% 16,800 50,00%
= q VYUZITI SKLADKA
ZISK ( MOST 009) MN?nf??]TV'
[m3] [%0] [m3] [%0]
VYKOPY 287,227 114,731 39,94% 172,496 60,06%
ORNICE 11,494 5,747 50,00% 5,747 50,00%
5 i VYUZITO NEDOSTATEK
ZASYPY ( MOST 009) MNOZ??TV'
[m3] [m3] [%] [m3] [%]
ZASYPY 259,015 114,731 44,30% 144,284 55,70%
ORNICE 11,494 5,747 50,00% 5,747 50,00%




